Adda247

Bihar State Power (Holding) Company Limited

fagR T utay (@Ifesdn &hual fafaees

Test Time [12:30 PM -2:00 PM
Subject Correspondence Clerk and Store Assistant

mm e
frmre wim e GRee) e f

Section : General Knowledge

Q.1 The Sri Lankan government has introduced a new policy in August 2024 that allows
citizens from 35 countries to visit Sri Lanka without needing a visa for six months. This

policy started on the 1stof __
Ans 1. November 2024

% 2. September 2024

« 3. October 2024

« 4. December 2024

Q.2 In which year did the British annex Punjab following the conclusion of the second Sikh
War?

Ans x 1.1846
v 2.1849
x 3.1850
x 4.1845
Q.3 In October 2024, which BJP MLA from Madhya Pradesh State Assembly submitted his

resignation over the reluctance of the local police to act against a doctor who allegedly

asked for a bribe to issue a death certificate?
Ans x 1.Bhupendra Singh
« 2. Brijbihari Pateria
x 3. Brijendra Pratap Singh
x 4. Govind Singh Rajput
Q.4 As announced by the Indian Olympic Association (IOA) in July 2024, who among the

following was appointed as the Chef-de-Mission of India’s Paris 2024 Olympics

contingent?
Ans 1. Gagan Narang
x 2. Mary Kom
x 3. PV Sindhu

x 4. Neeraj Chopra
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Q.5 The Prime Minister holds office during the pleasure of the
Ans x 1. Parliament

X 2. Supreme Court

« 3. President

x 4. People of India

Q.6 As per Census 2011, which Indian state had the highest population density?
Ans 1. Bihar

w 2. Uttar Pradesh

x 3. West Bengal

x 4. Kerala

Q.7 Who among the following was the first Viceroy of India?
Ans  x 1. Warren Hasting
« 2. Lord Canning
X 3. Lord Curzon
% 4. Lord William Bentick
Q.8 Which of the following Delhi Sultanate rulers constituted the Turkan-i-Chihalgani, a
group of forty Turkish slave officers?
Ans 1. Iltutmish who formed a council of loyal slave administrators
% 2. Alauddin Khalji who curbed the power of nobles harshly
x 3. Balban who re-organised the military and spy system

x 4. Qutub-ud-din Aibak who started the construction of Qutub Minar

Q0.9 Where was the venue of the NATO Summit in 20247
Ans 1. Madrid

x 2. Vilnius

« 3. Washington DC

x 4. Brussels

Q.10 Which of the following Amendment Acts added the fundamental duties to the

Constitution of India?

Ans 1. 44th Constitution Amendment Act, 1978
x 2. 76th Constitution Amendment Act, 1994
x 3.86th Constitution Amendment Act, 2002

o4 42nd Constitution Amendment Act, 1976
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Q.11 In which state of India is the Koonthankulam Bird Sanctuary located?
Ans X 1. Uttar Pradesh
X 2. Maharashtra
3. Tamil Nadu
X 4. Rajasthan
Q.12 Which device allows members to seek more information after receiving an
unsatisfactory reply to a question?
Ans 1. Short Duration Discussion
« 2. Calling Attention
x 3. Zero Hour

4. Half-an-Hour Discussion

Q.13 Which programme was recognised by the UN Decade as one of the 'Top TEN World
Restoration Flagship Initiatives' for its impact on river basin rejuvenation and improving

water quality?
Ans 1. Namami Gange Programme
2. Swachh Bharat Mission
x 3. Clean Ganga Mission
x 4. National River Conservation Plan
Q.14 In February 2024, which state repealed the Muslim Marriages and Divorce Registration
Act?
Ans 1. Assam
x 2. West Bengal
« 3. Jharkhand
x 4. Odisha
Q.15 Who among the following Mughal rulers was defeated by Sher Shah Suri in the Battle of
Kannauj?
Ans x 1. Jahangir
« 2. Humayun
x 3. Bahadur Shah |

« 4. Muhammad Shah
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Q.16 When did the British launch a major attack on Lucknow in an attempt to crush the Great

Indian Rebellion forever?
Ans x 1. August 1857
x 2. April 1859
« 3. March 1858

x 4. September 1860

Q.17 How much percentage of the total Indian population follows Islam as per the Census
20117

Ans x1.10.2%
x 2.16.2%
x3.122%

v 4.142%

Q.18 What type of landscape do dry deciduous forests form in the higher rainfall regions of

the Peninsular Plateau and the northern Indian plains?
Ans x 1. Dense forest canopies
« 2. A parkland landscape with open stretches
x 3. A thick undergrowth of small trees

x 4. A grassland with scattered trees

Q.19 The country is facing a war situation with other country. In this context, the citizens

need to perform Fundamental Duty as given in Article
Ans x 1.51-A (h)

« 2.51-A (d)

x 3.51-A ()

x 4.51-A (a)

Q.20 Which type of soil is dominant in Uttar Pradesh?
Ans x 1.Black

« 2. Alluvial

x 3. Laterite

x 4. Arid

Section : Logical Reasoning
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Q.21 Refer to the following letter series and answer the question that follows. Counting to be
done from left to right only.
(Lefty MBJNRFAODQYXVBYEGHUL (Right)
How many letters are there in the English alphabetical series between the letter that is

fifth from the right end and the letter that is third from the left end of the given series?
Ans 1. Four
x 2.Six
% 3. Three
x 4. Two

Q.22 Select the pair that follows the same pattern as the one followed by the two pairs given

below. Both pairs follow the same pattern.

VTR : WUS
OMK : PNL

Ans x 1.1GE: IHE
2. IGE : JHF
x 3.JGE : JHF

x4.JGE: IHE

Q.23 If ‘G’ stands for ‘<, ‘H’ stands for ‘<’, ‘I’ stands for ‘+’, and J’ stands for ‘-, then the

resultant of which of the following would be 54?7
Ans x1.90140G2H3)J18
x2.128G2J20110H6
#3.100H2G4116 )12
x4.80J20110G2HS8
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Q.24 Select the set in which the numbers are related in the same way as are the numbers of

the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down
the numbers into their constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying etc. to 13, can be performed. Breaking down 13 into 1

and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(3,19, 57)
(5,14, 70)

Ans . 1.(7,80,560)
x 2. (4,14, 66)
x 3.(8,13,51)
x 4.(9,21,68)
Q.25 LF 4 is related to GA 13 in a certain way. In the same way, KE 7 is related to FZ 22. To
which of the following is BV 11 related, following the same logic?
Ans x 1. UR35
x2.VQ 34
v 3. W0 34
x 4. WR 35
Q.26 Based on the English alphabetical order, three of the following four letter-clusters are
alike in a certain way and thus form a group. Which letter-cluster DOES NOT belong to
that group?

(Note: The odd one out is not based on the number of consonants/vowels or their

position in the letter-cluster.)
Ans x 1. FIL
¢ 2. AEG
x 3.GJM

x 4. HKN
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Q.27 Select the pair that follows the same pattern as that followed by the two pairs given
below. Both pairs follow the same pattern.
EYO : HXQ
BMH : EL)

Ans x1.MQO:TPN
¢ 2. NPT : QOV
x 3. FRQ : HMP

x 4. WBK : YCM

Q.28 Each vowel in the word HABILITATES is changed to the third letter following it in the
English alphabetical order and each consonant is changed to the second letter
preceding it in the English alphabetical order. How many letters will appear exactly

twice in the letter-cluster thus formed?
Ans 1. Three
x 2. Two
x 3. Zero

x 4.0ne

Q.29 Based on the English alphabetical order, three of the following four letter-clusters are
alike in a certain way and thus form a group. Which letter-cluster DOES NOT belong to
that group?

(Note: The odd one out is not based on the number of consonants/vowels or their

position in the letter-cluster.)
Ans x 1. GPY

x 2. PYH

x 3. XGP

v 4.BJl

Q.30 Pradeep ranked 19th from the top and 12h from the bottom in his class. How many

students are there in the class?
Ans x1.32
v 2.30
x3.28

x 4. 31
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Q.31 Cis the mother of D. H is the daughter of J. D is the husband of H. M is the husband of ).
How is D related to M?

Ans 1. Sister’s son
x 2. Wife’s brother
* 3. Husband’s sister

« 4. Daughter’s husband

Q.32 Refer to the following number series and answer the question that follows. (All numbers
are single-digit numbers only.)
(Left) 23948615457293479186 4 3 2 (Right)
How many such odd digits are there, each of which is immediately preceded by an even
digit and also immediately followed by an odd digit? (Counting to be done from left to
right only.)
Ans x 1.Three
x 2. Two
« 3. Five
x 4.0ne
Q.33 Six boxes, U, V, W, X, Y and Z, are kept one over the other but not necessarily in the same

order. Exactly three boxes are kept below V. Only W is kept below U. Only Z is kept above

Y. How many boxes are kept below X?
Ans 1. Two
x 2. Four
x 3.0ne
x 4. Three
Q.34 The position(s) of how many letters will remain unchanged if each of the letters in the
word DELIGHTED is arranged in the English alphabetical order?
Ans 1. Three
x 2. Two
% 3.0ne

x 4.Zero
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Q.35 What will come in place of the question mark (?) in the following equation if ‘x” and *-’
are interchanged and ‘+” and ‘+’ are interchanged?
369 +41-11+66x14 =7

Ans x1.148
x 2.143
x 3.156

@ 4. 151

Q.36 What should come in place of the question mark (?) in the given series?

25,32,18,39,11, 7
Ans »1.46
x2.36
x3.42

x 4.28

Q.37 What should come in place of the question mark (?) in the given series?

71016 2537 ?
Ans x1.61
@ 2.52
x 3.55

x4.57
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Ans

Ans

Q.38 A paper is folded and cut as shown below. How will it appear when unfolded?

Q.39 Two sets of numbers are given below. In each set of numbers, certain mathematical

o

e
S
s
s
v
Nact
R
oo

operation(s) on the first number results in the second number. Similarly, certain
mathematical operation(s) on the second number results in the third number and so on.
Which of the given options follows the same set of operations as in the given sets?
(NOTE: Operations should be performed on the whole numbers, without breaking down
the numbers into their constituent digits. E.g. 13 — Operations on 13 such as adding /
subtracting / multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and

then performing mathematical operations on 1 and 3 is not allowed.)

12-15-75-85; 11-14-70-80
x 1.13-16-80-70
@ 2. 14-17-85-95
x 3.15-16-80-90

x 4.10-13-65-55
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Q.40 What will come in the place of the question mark (?) in the following equation, if “+” and

‘-’ are interchanged, and ‘<’ and ‘<’ are interchanged?

36 +9x2+8-5=7
Ans x1.144

« 2. 159

x 3.256

x 4.196

Section : General English and Comprehension

Q.41 Select the most appropriate option to fill in the blank.

If anyone calls while I'm out, please tell I will return their call as soon as possible.
Ans x 1. her

x 2.t

* 3. him

« 4. them

Q.42 Select the most appropriate synonym of the given word.

Vex
Ans 1. Annoy
x 2. Soothe
3. Comfort

% 4. Assist

Q.43 Identify the idiom that fits the given situation.

The man in the deck is under suspicion for having murdered his wife in cold blood.
Ans 1. To be under the cloud

x 2. To get your act together

3. To face the music

x 4.To be upinarms
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Q.44 Select the option that can be used as a one-word substitute for the given group of

words.

A period of one hundred years
Ans x 1. Millennium
« 2. Century
x 3.Era

x 4. Decade

Q.45 Select the most appropriate option to fill in the blank.

The car moves ___ on the highway.
Ans x 1.smoothness
* 2.smooth
x 3. smoothest

« 4. smoothly

Comprehension:

Read the given passage and answer the questions that follow.

As Dweck says, the growth mindset is focused more on the process than the outcome. This is easy
to accept in theory, but very hard to stick to in practice. Most people don’t want to deal with the
accompanying embarrassment or shame that is often required to learn a new skill.

The list of mistakes that you can never recover from is very short. | think most of us realise this on
some level. We know that our lives will not be destroyed if that book we write doesn’t sell or if we
get turned down by a potential date or if we forget someone’s name when we introduce them. It’s
not necessarily what comes after the event that worries us. It’s the possibility of looking stupid,
feeling humiliated or dealing with embarrassment along the way that prevents us from getting
started at all. In order to fully embrace the growth mindset and enhance your creativity, you need

to be willing to take action in the face of these feelings that so often deter us.
SubQuestion No : 46
Q.46 Select the summary that best captures the essence of the given passage.
Ans x 1. Feeling humiliated is always harmful.
« 2. To grow, we must act despite the fear of embarrassment.
x 3. Most mistakes are final.

x 4. Creativity is only for confident people.
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Comprehension:

Read the given passage and answer the questions that follow.

As Dweck says, the growth mindset is focused more on the process than the outcome. This is easy
to accept in theory, but very hard to stick to in practice. Most people don’t want to deal with the
accompanying embarrassment or shame that is often required to learn a new skill.

The list of mistakes that you can never recover from is very short. | think most of us realise this on
some level. We know that our lives will not be destroyed if that book we write doesnt sell or if we
get turned down by a potential date or if we forget someone’s name when we introduce them. It’s
not necessarily what comes after the event that worries us. It’s the possibility of looking stupid,
feeling humiliated or dealing with embarrassment along the way that prevents us from getting
started at all. In order to fully embrace the growth mindset and enhance your creativity, you need

to be willing to take action in the face of these feelings that so often deter us.
SubQuestion No : 47
Q.47 Which of the following inferences can be drawn from the given passage?
Ans x 1. Mistakes should always be avoided.
% 2. Growth mindset means ignoring outcomes completely.
» 3. Only confident people can learn new skills.

« 4. Fear of looking foolish can block personal growth.
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Comprehension:

Read the given passage and answer the questions that follow.

As Dweck says, the growth mindset is focused more on the process than the outcome. This is easy
to accept in theory, but very hard to stick to in practice. Most people don’t want to deal with the
accompanying embarrassment or shame that is often required to learn a new skill.

The list of mistakes that you can never recover from is very short. | think most of us realise this on
some level. We know that our lives will not be destroyed if that book we write doesnt sell or if we
get turned down by a potential date or if we forget someone’s name when we introduce them. It’s
not necessarily what comes after the event that worries us. It’s the possibility of looking stupid,
feeling humiliated or dealing with embarrassment along the way that prevents us from getting
started at all. In order to fully embrace the growth mindset and enhance your creativity, you need

to be willing to take action in the face of these feelings that so often deter us.

SubQuestion No : 48
Q.48 Which of the following facts is NOT stated in the given passage?
Ans x 1. Taking action despite fear enhances creativity.
x 2. People fear looking foolish when learning something new.
x 3. Growth mindset focuses on the process.

« 4. A failed book can ruin someones life.
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Comprehension:

Read the given passage and answer the questions that follow.

As Dweck says, the growth mindset is focused more on the process than the outcome. This is easy
to accept in theory, but very hard to stick to in practice. Most people don’t want to deal with the
accompanying embarrassment or shame that is often required to learn a new skill.

The list of mistakes that you can never recover from is very short. | think most of us realise this on
some level. We know that our lives will not be destroyed if that book we write doesnt sell or if we
get turned down by a potential date or if we forget someone’s name when we introduce them. It’s
not necessarily what comes after the event that worries us. It’s the possibility of looking stupid,
feeling humiliated or dealing with embarrassment along the way that prevents us from getting
started at all. In order to fully embrace the growth mindset and enhance your creativity, you need

to be willing to take action in the face of these feelings that so often deter us.
SubQuestion No : 49
Q.49 Identify the most appropriate title for the passage.
Ans 1. The Power of Success
x 2. How to Avoid Embarrassment
« 3. Embracing the Growth Mindset

x 4. Fear of Failure in Creativity
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Comprehension:

Read the given passage and answer the questions that follow.

As Dweck says, the growth mindset is focused more on the process than the outcome. This is easy
to accept in theory, but very hard to stick to in practice. Most people don’t want to deal with the
accompanying embarrassment or shame that is often required to learn a new skill.

The list of mistakes that you can never recover from is very short. | think most of us realise this on
some level. We know that our lives will not be destroyed if that book we write doesnt sell or if we
get turned down by a potential date or if we forget someone’s name when we introduce them. It’s
not necessarily what comes after the event that worries us. It’s the possibility of looking stupid,
feeling humiliated or dealing with embarrassment along the way that prevents us from getting
started at all. In order to fully embrace the growth mindset and enhance your creativity, you need

to be willing to take action in the face of these feelings that so often deter us.

SubQuestion No : 50
Q.50 Select the most appropriate ANTONYM of the word 'humiliated'.
Ans 1. Proud
x 2. Shy
x 3. Embarrassed

x 4. Nervous

Section : General Hindi and Comprehension

Q.51 9MYd & faellq oI &-
Ans  x 1. 3R

x 2. 3egHYT

x 3. Jeg

¢4 AR
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Comprehension:

& 7@ e ier & 3R 4R Agifesd u4t & 3R Ifsre-

IAH T H 93 It 3R 31 & A1 AR & ATHA STHIT D1 AHRAT 3URYA Bl 81 U Y 7 fob ol 31
BRI HGIHAT R Bacl U HATGH! Bl HAHT- gBHd <Ictcll o | Al R fRALAT & H=RU1 § §¢-de¢ B o
It & 3R g1 I HuF A1l 3R BRAST HGMAT B WY BT (AUCRT bael Ueb Afch bl 2<8T IR AR o119
3BT HAATA HTSI37 BT GAT 3R 3P UAY Tgel 981 Hgl b A Yol BT 379 Sia bl I=H e
AT &1 3T G A 1 BT HIATL Wl Y ST BT GRH eF FHSId U | 37D T A 1 BT FIATL
It & & S, @ off 37D FTell B 2R db TR TA- A SBIR B B <61 9gd & Bl H eT giell | 98
3561 HIfeTds o, 3 3P §| I8 3BT 38T T, I 3BT NS | J & 3R A1cT &b IS 9, 98 366! WIThII I
39 R F RN B dTct &, 8 39N BIH - alall | aTd Je! TH el arehl | JYdT P &9 Sadl P aga¥
STE-3PTE IR YT |

SubQuestion No : 56
0.56 3UA A &q 3R Ml &1 TI= I
Ans x 1.391 3R fagar
x 2.9 3R R
v 3. ATfcTe 3R 39 &g
x 4.3 AR Py

Comprehension:

f&U 7T e ier & 3R 4R Agifed u4t & 3t dIfsre-

I T H 3 Jcf HR 31 & A1 AR &b ATHA ST Dl FHRAT 3URAA Bl 81 Ueb Y o1 fob ofrdl 31
BRIST ST R Bacl U 3eH! BT HAATT §BHd detdl ol | Feddl 3R AT & 3eR0T  9¢-9¢ P S
aret & 3R JeT & U gl R BRAST AIGHAT B WY Bl FAYSRT el Ueb Afeh hY g6 IR iR 2113
3B HAATAT HTST37 BT AT 3R 3P UY Sge 581 Hgl b A el BT 39 Sia Bl IRH e
ST & 3BT GEAT A APT BT AL 9ol 39 Siig— BT UH &H JrSTd | 37 G&ar I a1 BT Jd190
et & & ST, Al off 3T H3Tell b S2AR b R Tol+ I §PIR B bl ST 9gdl &l BH PNl 7 97 giell | I8
3T Hifclid 2T, I 3P e | I8 3BT 387 2T, d 37! US| d & 3R I &b 3G &, 98 371 Al d
379 R P RN B dTct A, I8 39 BIH - alell | 1 JeT JHC el &t | Tl & 7 addl b Iga¥
SPTE-3T8 IR 11fUd |

SubQuestion No : 57
0.57 fofafld el ¥ & S RAecarddr g< &1 ey < 82
Ans 1. gfgrar

x 2. faarh

x 3. I

x 4. gl
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Comprehension:

f&U 7@ e ier & 3R 4R Agifed u4l & 3R Ifsre-

I T H 93 Jcf 3R 31 & 12 AR & ATH STHIT B AHRAT 3URYA Bl 81 Ueb Y 7 fob ol 31
BRI HGIHAT R Bacl U HATGH! Bl HAHT- gBHd <Ictcll o | Al R fRALAT & H=RU1 § §¢-de¢ B o
It & 3R g1 I HuF A1l 3R BRAST HGMAT B WY BT (AUCRT bael Ueb Afch bl 2<8T IR AR o119
3BT HAHTA HATSI3T BT GAT 3R 3BT YUY Tge 981 Hgl b A1 Yol BT 379 Sia bl I=H e
FHSTA &1 3HDT G A 1 BT HIATLN Wl Y ST BT GRH eFf FHSTd A | 37D T A 31 BT FIATL
T & & ST, @ off 37D FTell B 2R db TR TA A SBIR B P 26N 9gd & B Nl H a] giell | 98
3561 HIfeTds o, 3 3P §| I8 3BT 38T T, I 3BT NS | J & 3R A1cT &b IS 9, 98 366! WIThII I
39 R F RN B dTct &, 8 39N BIH - alall | aTd Je! TH el arehl | JYdT P &9 Sadl P aga¥
STE-31TE IR YT |

SubQuestion No : 58
Q.58 3URNI Y & YR R FAgferf@d § d &1 a1 319 8?2
Ans x 1. 3G & Y &I FAYCRT Hdd TP Afth gIRI ardr 2l

X 2. TcH T H IR B WA S DT JHT 39RA &

v 3. 3 U AR & EdT A @RI BT HeTuT gl 2|
X 4. Ul Ueb 3Tl &1 HAHTN gpHd etdl &l

Comprehension:

f&U 37T e ier & 3R 4R Agifed u4t & 3R dIfsre-

I T H 3 Fcf R 371 & A1 AR &b ATHA ST bl FHRAT 3URYA Bl g1 Ueb Y 21 fob ol 31k
BRIST ST R Bacl U 3eH! BT HAATT §BHd detdl ol | Feddl 3R AT & 3eR0T  9¢-9¢ P S
aret & 3R JeT & U gl R BRAST AIGHAT B WY Bl FAYSRT el Ueb Afeh hY g6 IR iR 2113
3BT HAATAT A3 BT GAT 3R 3BT YUY Ige 581 Hgl b A el BT 39 Sia Bl IRH e
IS &1 3BT G A PN BT AL Hel 39 ST BT U7 & FHeid | 37! T I T BT JG1L
et & & ST, A off 3T H3Tell b S2AR b W Tol+ 3 §PR B bl ST 9gdl & PH PNl 7 97 giell | I8
3T Hifclid 2T, I 3P e | I8 3BT 387 2T, d 37! US| d & 3R I &b 3G &, 98 371 Al d
379 R P RN B dTct A, I8 39 BIH - alell | 1 JeT JHC el &t | Tl & 7 addl b Iga¥
SPTE-31T8 IR 11fUd 9|

SubQuestion No : 59
0.59 FYfafAd el ¥ I ST AP ddd o< &I TAfIardt o< T8 &7?
Ans x 1.8

x 2. d1Pd

x 3. 9fh

o 4. g
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Comprehension:

f&U 7@ e ier & 3R 4R Agifed u4l & 3R Ifsre-

I T H 93 Jcf 3R 31 & 12 AR & ATH STHIT B AHRAT 3URYA Bl 81 Ueb Y 7 fob ol 31
BIIG! AT TR Bacl U IHTeH! BT HAATT §BHd deidl ol | Feadl 3R AT & 3Rl  d¢-9¢ P i
It & 3R g1 I HuF A1l 3R AT HGMAT S WY BT FAUCRT bael Ueb Afch bl 2<8T IR AR o119
3BT HAHTA HATSI3T BT GAT 3R 3BT YUY Tge 981 Hgl b A1 Yol BT 379 Sia bl I=H e
THSTA & 3T AT A AT BT AL Hed 39 a1 BT IRH & JASTd | 3HBT Gl I il BT J=190
I & & S, @ off 37D FTelt B $AR db W A A SHR B Bl 3261 dgd &l A @l 7 day &l 98
3T il 2T, I 3B ¢ | I8 3BT 381 2T, d 37! NS | J ¢ 3R Al &b 3G &, 98 371 Ml d
39 R P RN B3 dTct &, 8 39 BIH - alall | aTd Je! TH el areil | FYdT P &9 Sadl P aga¥
SPTE-31T8 UR AT 2|

SubQuestion No : 60

Q.60 &I & 3MeMR 4R 3R ¢
A9® I 39 U Afb B 1 7T &2

Ans 1. cadl
x 2. Wgeft
x 3. AB

x 4. 9db

Section : Basic Knowledge of Computer

Q.61 What does the number showing up against the Inbox indicate?
Ans 1. Number of unread emails in the Inbox

» 2. Number of emails in the Sent folder

3. Number of emails in the Trash

x 4. Number of drafts in the Drafts folder

Q.62 Which of the following is NOT a type of computer virus?
Ans x 1. Macro virus

x 2. File infector virus

x 3. Boot sector virus

« 4. Hardware virus

Q.63 What is the purpose of HTTP in internet communication?
Ans 1. To transfer web pages

% 2. To send emails

% 3. Remote access login

* 4. Route maintenance
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Q.64 Which of the following is the correct option to print a document in MS Word?
Ans x 1. Click on File tab >> Click on New
x 2. Click on File tab >> Click on Open
« 3. Click on File tab >> Click on Print
x 4. Click on File tab >> Click on Save
Q.65 Which of the following features allows a user to save an incomplete email without
sending it?
Ans x 1.Trash
« 2. Draft
x 3. Important

x 4. Sent

Q.66 What is the keyboard shortcut for copying the selected text in most word processing
applications?

Ans x 1.Ctrl+X
x 2. Ctrl +V
v 3.Ctrl+C

x 4. Ctrl +Z

Q.67 What is the default line spacing used in MS Word documents?
Ans x1.2

@ 2. 115
x3.15
x4.1
Q.68 In Windows OS, which of the following tools is used to view and manage the processes
currently running on the computer?
Ans 1. Task Manager
x 2. Disk Management
« 3. Control Panel
x 4. File Explorer
Q.69 In which part of the MS Word interface can you access the option to change the
document’s theme?
Ans x 1. Insert Tab
« 2. Home Tab
« 3. Design Tab

x 4. Layout Tab
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Q.70 In MS Excel, how would you write a formula to check if the value in cell A1 is greater

than 100, and if so, return “Above Average”; otherwise, return “Below Average™?
Ans 1.=IF(A1>100, “Above Average”, “Below Average”)
x 2. =CHECK(A1>100, “Above Average”, “Below Average”)
x 3.=IF(A1>100, “Below Average”, “Above Average”)

x 4. =IF(A1<=100, “Below Average”, “Above Average”)

Q.71 The tool is used for scanning the network in network security.

Ans x 1. USBDeview
% 2. Metasploit
x 3. Imager
« 4. Wireshark
Q.72 How can a user delete multiple slides at the same time in an MS PowerPoint
presentation?
Ans x 1. Hold Tab and select the slides you want, then right-click and select Delete Slide.
« 2. Hold Ctrl and select the slides you want, then right-click and select Delete Slide.
x 3. Hold Alt and select the slides you want, then right-click and select Delete Slide.

x 4. Hold Esc and select the slides you want, then right-click and select Delete Slide.

Q.73 What is the primary use of encryption in information security?
Ans x 1. Compress and decompress data storage

« 2. Prevent unauthorised access to data or information

x 3. Improve network performance

% 4. Speed up data transmission

Q.74 What is the function of a virtual private network (VPN) on a smartphone?
Ans 1. To hide your online activity and secure your data
% 2. To improve app performance
x 3. To increase battery life
x 4. To speed up internet browsing
Q.75 How can a user align the text in the centre in a textbox in an MS PowerPoint
presentation by using a keyboard shortcut?
Ans 1. By selecting the text and pressing Ctrl + E in the textbox
x 2. By selecting the text and pressing Ctrl + D in the textbox
x 3. By selecting the text and pressing Ctrl + G in the textbox

x 4. By selecting the text and pressing Ctrl + M in the textbox
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Q.76 Which of the following statements is trueabout sorting data in MS Excel?

Ans 1. Sorting data in MS Excel can be done by selecting one column, but if you want to sort by

multiple criteria, you must use the Custom Sort option.
« 2. When sorting data, MS Excel automatically ignores blank cells in the dataset.

x 3. MS Excel allows you to sort data in ascending or descending order, but you cannot sort

multiple columns simultaneously.

x 4. Data sorting in MS Excel only works with numerical values and not with text data.

Q.77 Which of the following is NOT a common criterion for sorting in Gmail?
Ans x 1. Date

x 2.Size

« 3. Sender

« 4. Font type

Q.78 Which of the following options in the Windows operating system provides access to

various system settings, such as display resolution, sound settings, and user accounts?
Ans 1. Control Panel
x 2. File Explorer
x 3. Device Manager

x 4. Task Manager

Q.79 Which of the following is a well-known antivirus software?
Ans x 1. Adobe photoshop
* 2. Mozilla Firefox
x 3. ChatGPT
« 4. Norton
Q.80 By default, how many worksheets does a new workbook contain when opened in MS
Excel 20167
Ans x 1. Five
x 2. Two
« 3. Three

«4.0ne

Section : Quantitative Aptitude
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Ans

0.82

Ans

Q.83

Ans

0.84

Ans

Q.85

Ans

247

successive discounts of 61%, 49%, and 52% respectively.

ol
90.5%

X 2. 81.5%
X 3. 89.6%

x4 82.1%

A trader bought 80 pencils for $4 each and sold them at $5 each. If he also incurred a

total cost of $50 in transportation, what was his total profit?

« 1.530
x 2.532
% 3.$35
x4.533

Evaluate the following:

2x{17 -2 x (8 - 4)}
x1.17
x 2.22
v3.18

x 4.15

Evaluate: 1850 - [450 - {210 - (90 - 70 - 10)}]

»1.1600
x 2. 1460
x 3.1675
x 4. 1530
729)§

Simplify the gi [ (—
implify the given expression 216

10

x 1. 10
65

2.9

a3

512

@
)

Q.81 Find the single percentage discount [rounded off to 1 decimal] equivalent to three

GET IT ON
Google Play
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Q.86 Person A's earnings exceed Person B's earnings by 40%, and both manage to save
¥3,000 each. The ratio of Person B's expenses to Person A's expenses is 5 : 8. Find the

income of Person A.
Ans »1.712,600

x 2.%10,000

x 3.39,000

x 4.%11,600

Q.87 The average of the marks of 15 students in a class is 44. If the marks of each student is

doubled, find the new average.
Ans x1.44
v 2.88
x 3.30
x4.15
Q.88 The sum of five numbers is 655. The average of the first two numbers is 75 and the third
number is 104. Find the average of the remaining two numbers?
Ans x1.180
¢ 2.200.5
x3.201.5
x 4.179
Q.89 Two trains of equal length are running on parallel lines in the same direction at speeds

of 114 km/hr and 51 km/hr. The faster train passes the slower train in 28 seconds. The

length of each train is:
Ans x1.239 metres
« 2. 245 metres
x 3. 248 metres

x 4. 253 metres
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4
O By selling an article at T of its actual selling price, Nirbhay incurs a loss of 20%. If he sells it at 79% of its actual selling price

- then the profit percentage is:
9

0

A »1.738%
n

s
x2.733%
% 3.74.8%
x 4.731%
Q.91 3 times the present age of Kirti is 12 years more than 2 times the present age of Rajesh,
and 3 times the present age of Rajesh is 6 years less than 3 times the present age of
Kirti. The sum of the present ages (in years) of Kirti and Rajesh is:
Ans 114
x2.19
x3.17
x4.9
Q.92 Pipes A and B can fill a tank in 5 and 6 hours, respectively. Pipe C can empty it in 12

hours. If all three pipes are opened together, find the time (in hours) it will take to fill

the tank.

Ans ;(1.3l
17

. 7
< 2. 4—
17

9
b 3. 4—
17

0
sh32
17

Q.93 What is Neeru’s present age, if after 15 years, her age will be 7 times her age 9 years
ago?
Ans . 1.13 years
% 2. 14 years
x 3. 1 years

x 4.12 years
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10.788

Q.94 Find the value of .
1.86

Ans x1.0.58
v 2.5.8
x 3.0.53
x4.53
Q.95 The cost of an article is first decreased by 30% and then it is further decreased by 40%.
By what percentage has the original cost been decreased?
Ans  x1.39%
x 2.42%
¢ 3.58%
x4.48%
Q.96 A motor bike travels at the speed of 80 km/hr for 1.5 hours, then it travel at 60 km/hr

for 2.5 hours. Finally, it cover 110 km distance in 45 minutes. What is the average speed

of the motor bike?
Ans x1.75km/ hr
x 2.68 km/hr
« 3.80 km/hr
x 4.81km/ hr
Q.97 In an election between two candidates, 85% of the registered voters cast their vote and
10% of the votes polled were found invalid. The winning candidate got 70% of the valid

votes and won the election by a margin of 1683 votes. How many voters were

registered?
Ans .~ 1.5500
x 2.5503
x 3.5498
x 4.5497
Q.98 An item is marked 112% higher than its cost price. Even after allowing some discount,

the shopkeeper earned 6% profit. Find the discount percentage allowed by the

shopkeeper.
Ans  x1.47%

x 2.51%

x 3.52%

¢ 4.50%
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Q.99 It takes 36 minutes for pipe P to fill a tank completely and 45 minutes for pipe Q to fill
the same tank completely. If both the inlets are opened together, then how much time

will be taken to fill the tank completely?
Ans . 1.20 minutes
x 2. 30 minutes
» 3. 27 minutes

x 4. 24 minutes

Q.100 The population of a town increased from 1,50,000 to 2,65,500 in a decade. The average

percentage increase of population per year is:
Ans L, 1.77%
x2.82%
%x3.5.7%

x4.6.8%



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

